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Changes since Version -00

* Added Dean Cheng as co-author

* Introduce INFINITE cost, thus reusing existing TLV
instead of creating a new one
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Solution Overview
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Details
* When link failure happens between a Spine node and a
Leaf node, the Spine node SHOULD

* 1) encode all prefixes attached to the Leaf node into the IP
Reachability TLV,

» 2) set the cost of the prefixes to be INFINITE,
e 3) append the IP Reachability TLV to the IS-IS LSP, and

* 4) send the LSP to every other Leaf node it connects to.

* The Leaf node SHOULD:
e 1) install each of the prefixes into its routing table,

e 2)set the next hop to be an ECMP group including all Spine
nodes it connects to, except the one who advertises the prefix.



Next Steps

* \We need more reviews and comments.



